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Question No. 1

Identify which statement is TRUE about the Pratihara dynasty.

A)Vatsaraja was defeated by the Rashtrakutas B)Nagabhata 1l was the last ruler of the Pratihara
dynasty

C)Nagabhata | established his capital at Kannauj D)Mahendrapala was the founder of the Pratihara
dynasty

E)The Rashtrakutas could never dominate the
Pratiharas

TEue F YAgR UoEe & aX & FiT @ FUT §F ¢
A)TCERTST & Tsgapel of Wifara fmar Tl B)aIeToTE gfadia Ufder aer & 3ifad emas o
C)aARTHE UUH o Foeilel H HUAT T H TATAT D)FEEUTS UidgR ToTael & TEAUF |
Eall
E)sgene sl off 9fagRl o g 7167 &1 ||

Answer Key : A

Question No. 2

The book 'Kanhad De Prabandh', which gives details of the Battle of Jalore (1310), was written by-

A)Allauddin Khilji B)Padmanabha
C)Ulugh Khan D)Firoza
E)Viram Dev

SR & g (1310) F RaRor &R arell I "Fees o Yauer frad qanr fordr o e

A) 33 et B) 93T=ITH
C)3eT Wi D) ST
E)dRe &g

Answer Key : B

Question No. 3

In which of the following states is the Athirappally Falls situated?

A)Uttar Pradesh B)Assam
C)Manipur D)Nagaland
E)Kerala

PR & O g oo & 3RuRue Seavaa g 87

A)Feal ge T B) 3 &H
C)AforR D)ARTeE
E)ael

Answer Key : E

Question No. 4



Which of the following is a novel written by Madhu Acharya 'Ashawadi' and given the Sahitya Akademi award
in 20157

A)Kavita Devai Deeth B)Gawaad

C)Gharano D)Ud Ja Re Sua

E)Utaryo Hal Abho

fArafaf@a & @ #ia a1 39w AY R IRMEET garT far ™ ¢ 3R 2015 # wiigey el R
T arr ar?

A)Ffaar s &y B)7raTs
C)eRm=t D)3 ST ¥ g3m
E)3erRar grel 31T

Answer Key: B

Question No. 5

The Bharatpur Palace is a fusion of architectures.
A)Mughal and Afghan B)Rajput and Greek
C)Mughal and Rajput D)Mughal and Gothic

E)Mughal and Victorian

AR da A3 T T HerdeT gl

A)YHITS 3R IR B)TeIY 3R 3l
C)FTer 3R TaTqed D)FIIe 3R MfAH
E)7aTer AR faseiRaa

Answer Key: C

Question No. 6

The Ajanta Caves which are a UNESCO World Heritage Site with cave monuments dating from the 2nd and
1st centuries B.C.E. are located in the state of-

A)Maharashtra B)West Bengal
C)Gujarat D)Haryana
E)Uttarakhand

3siar #r IHE, S UNESCO Hr faeg tRIgT ¥Ie &, qad 3R ggell orarey $6T 4 (B.C.E.) & W FHARH &
Y, R U i Rya §2

A)AGRTSE B)qfea#H &9l
C)T=Ird D)gfamom
E)3cRi@s

Answer Key: A

Question No. 7

The Chola dynasty was based (and originated) in the river valley.
A)Godavari B) Subarnarekha
C)Beas D)Brahmaputra
E)Kaveri

i TSa A4 "y F srenRa (3R 3cwe=) 4l

A)aheradr B)gavT@r

2

C)sara D)sEAqT

2



E)&radr

Answer Key : E

Question No. 8

In 1680, the Battle of Udaipur was fought between Maharana Raj Singh of Mewar and-

A)Aurangzeb B)Babur

C)Mahmud of Ghazni D)Shah Jahan

E)Jahangir

1680 #, 3gaR H @3 Aas F FFROW I [y IR & o W g oA
A)3RETSE B)aTeX

C)ITai=i & HgHG D)emgsTer

E)Sigliik

Answer Key: A

Question No. 9
The Shergarh Fort in the Baran district is named after-
A)Babur B)Aurangzeb
C)Akbar D)Shershah
E)Shah Jahan

TR forer & eI R & TH fRES TR 9T T@T 9T B7

A)STs B)3iRerste
C)3FaT D)?R2mg
E)emgster

Answer Key : D

Question No. 10
The Junagarh fort in Bikaner was built in the 16th century by-
A)Raja Khilandev B)Raja Jansidev
C)Raja Rai Singh D)Raja Beejaldev
E)Raja Rajdev

IFR F ARG F frem 164 aaredr # fFad garT Seamrr /T ar?

AT Eeea B)ISTT SieAdiea
CywraT 1 g D)1= dsTeca
E)ISTT Tated

Answer Key: C

Question No. 11

Moniya Dance in Bundelkhand is performed every year during the festival of at the end of October
or in the first week of November according to the lunar calendar.

A)Maha Shivratri B)Doljatra

C)Diwali D)Janmashtami

E)Ram Navami

Rogs 7 A T | Ao F R F R IR & 3T H I Faal F Tgol Goe 7 g

FelsT & ITER Brar Sar B



A)#gT Riaufy B)arerstraT
C)fe@reir D)SieATSTHT
E)TH wgAT

Answer Key: C

Question No. 12
The Kolayat Fair associated with the Kolayat Lake, one of the prime attractions of the town of Kolayat, is held
in the district of Rajasthan.

A)Nagaur B)Bikaner

C)Jodhpur D)Hanumangarh

E)Churu

FAIT Nl ¥ 3T FIAAT AT, ST RAIT AT F TG IR0t & & v §, Toreds & foror &
IS BT ST g

A)ARIR B)dFeR

C)siraqR D)gIATTTE

E)a®

3
Answer Key : B

Question No. 13
The Gangaur Festival in Rajasthan is celebrated immediately after-
A)Gandhi Jayanti B)Janmashtami
C)Raksha Bandhan D)Holi
E)Bhaiyya Dhoj

VeI # IoEIR Fgicwd e [{d aTe FATar Ser §?

A)aielt ST B) SieHATSCHT
C)RaTrsier=t D)grelt
E)#ar g

Answer Key : D

Question No. 14
The Urs Fair in Ajmer is an annual festival conducted for a period of-
A)Six days B)Five days
C)Four days D)Three days
E)One month

I H 3 Aar g 39 F Qv 3AfST Far s arer v aiffs 3caa 82

A)TE e B)ura fe=
C)ar &t D) fg=t
E)U& HglT

Answer Key: A

Question No. 15

On the ____ day of Navratri, the Ashwa Poojan, a regal festival for the worship of horse, is traditionally
organized in Udaipur.

A)First B) Third

C)Fifth D)Sixth

E)Ninth



qaUfT & @ o, 3RT Yo, 3 A o & AT v A e, IRIRE & § 3GqR A IS
far S 21

A)Tger B)dr
C)urad D)o
E)=ta

Answer Key : E

Question No. 16
The Marwar festival is celebrated annually in the city of Jodhpur for two days usually in the month of-
A)January or February B)March or April
C)September or October D)May or June
E)November or December

ST 2T F ARGTS ER, HHAR | F 7 F & Rt & v afded #awar smar #
A)Seadr I wIad B)ATT AT 3

C)fadsT a1 3T D)AS a1 3

E)agsT a1 feasw

Answer Key: C

Question No. 17
Which of the following mountain ranges is called the Sahyadri?
A)Aravalli Range B)Satpura Range
C)Vindhya Range D)Western Ghats
E)Eastern Ghats

Rl # ¥ RFE Tda 4T F TEAE e S &7

A) IRTEET @l B)&dYsT S@el
C)fdea s@en D)ufast are
E)g&t are

Answer Key : D

Question No. 18

The Siliserh lake created by Maharaja Vinay in 1845 is close to the city of-

A)Alwar B) Taranagar
C)Nohar D)Suratgarh
E)Khajuwala

1845 # FERISN 7w ZarT aar$ 1§ Aeidie 3ie BF aet & +:09 87

A) 3R B) aRI=TIR
C)aAgx D)&§IeTe
E) @rsaren

Answer“Key tA
Question No. 19
The Mahi dam constructed on the Mahi river is one of the major attractions in the district of-
A)Udaipur B)Banswara
C)Sirohi D)Jalore
E)Barmer



T T W PR A i R R & g A F ¥ e 3

A)3eTR B) sTHarsT
C)fRgr D)X
E)asax

Answer Key: B

Question No. 20

Which of the following rivers does NOT flow in Rajasthan?

A)Sabarmati B)Luni
C)Banas D)Berach
E)Mahanadi

TfaiEa & ¥ 9 d@ 748 o & a8 9gdr 82

A) FTEHAT B) e
C)d=TH D)sr=
E)#gTeiar

Answer Key : E

Question No. 21

The Jag Niwas and Jag Mandir are two islands in the lake of Udaipur.
A)Mansagar B)Ana Sagar
C)Pichola D)Gadsisar
E)Pushkar

St AT 3R ST AR seA R A ghver F o o g

A)ATH "X B) AT AR

C)orer D)IsHER

E)qsaX

2
Answer Key: C

Question No. 22

The most conspicuous animal of the Sita Mata sanctuary is the which can be seen gliding from one
tree to another after sunset.

A)Flying squirrel B)Jackal

C)Fox D)Porcupine

E)Nilgai

Hrar AT 3ARYT H FEE faRse s ¢ O T & @ T 9% W g 98 WO g
@ S FR §

A)3saT arelr [PFregdr B)R=mx

C)ais D)@rer

E)alrerma

Answer Key : A

Question No. 23
What is the rank of India, globally, in terms of fish production as of October 20227
A)First B)Second
C)Third D)Fourth



E)Fifth

IFEET 2022 °F, ARaw TN W, AT 3cqeaT & AFA # ARA F1 F T 872

A)TgelT B)g@
C)drar D)ater
E)uraar

Answer Key: C

Question No. 24

According to the report released by the Indian Space Association (ISpA) and Emnst and Young, India's space

economy is likely to be worth nearly by 2025.
A)USD 13 million B)USD 2 billion
C)USD 5 billion D)USD 13 billion

E)USD 100 billion

3BT P wAfdwes (ISpA) 3R 3 U3 For qarr S RAIE F 3E[ER, aRa $r 3fafer nfegawar 2025
T AT g fr FergeT ¥

A)USD 13 fafaas B)USD 2 Taferrer

C)USD 5 faferae D)USD 13 fafersT

E)USD 100 faferast
Answer Key : D

Question No. 25
Under which category was Rajasthan listed in the fourth LEADS (Logistics Ease Across Different States)
2022 report unveiled by the Union Commerce and Industry Ministry on October 13, 20227
A)Fast Movers B)Achievers
C)Aspirers D)Not listed
E)Not participated

13 3gay, 2022 # FE aOey AR 3@ AAET G@N HATROT fir 7§ Gt LEADS (dffoifeesw &
e Bdie ®ew) 2022 RAE # Toeae # 5 Aol & dea geheg Far v ar?

A)vrReE FEd B) wiat
C)ufeawyd D)geieg =iel &
E)#meT 71gT forar

Answer Key: A

Question No. 26
In which of the following cities was a two-day conference of power and renewable energy ministers of States
and Union Territories held in Rajasthan on 14 and 15 October 2022 chaired by the Union Minister for Power
and New and Renewable Energy (NRE)?

A)Jodhpur B)Bikaner
C)Alwar D)Udaipur
E)Bayana

Afef@a # & fFF o & st 3R &g afda st F Reeh ik sdeola st Al & 3 Radw
TERAFA 14 IR 15 IageR 2022 A FET Rore 3R e IR wdewold ot #fr (NRE) Y sreqerar &
TS A Imafaa e mar a7

A)SirergT B) i

2



C)3reax D)3ea®R
E)sm=m
Answer Key : D

Question No. 27
What is the amount approved by the Rajasthan state government for setting up state-of-the-art gyms and
fitness centres at Jaipur, Jodhpur, Ajmer, Bikaner, Udaipur, Bharatpur and Kota, and for open gyms to be set
up at all district headquarter towns/cities as announced on 15 October 20227
A)Rs.10 crore B)Rs.15 crore
C)Rs.35 crore D)Rs.65 crore
E)Rs.90 crore

SR, AU, IR, dFER, IR, SWaR A Fer F syl BF i e dq vl s ik
Wi et Aoy FEieRd # 39 OF Tftd & § @O ToE T57 TWER g@RT 15 g 2022

#r Rt o wlipa = BT $r a7 42

A)F10 I3 B)%.15 @IS
C)%.35 13 D)%.65 #Ig
E)%.90 5

Answer Key: C

Question No. 28
How many families residing in the rural areas of Rajasthan for the previous five years will get interest-free
loans for non-agricultural works in the year 2022-2023, as announced by the state government on 10 October
20227

A)1000 B)5000
C)10000 D)20000
E)100000

10 3FRGET 2022 F UST TR GaNT #r 5 ©INOT & 38R, 9§ 2022-2023 # Toreyler & redror &yt &
e ofT st § @ are fhde 9RERt #1 R-FN Frt F v saer g wor Ham?

A)1000 B)5000
C)10000 D)20000
E) 100000

Answer Key : E

Question No. 29

Where in Rajasthan has Coal India Ltd (CIL) decided to set up a 1190-MW solar power plant according to an
MoU signed between CIL and Rajasthan Vidyut Utpadan Nigam Ltd (RVUNL) in October 20227

A)Bhilwara B)Bikaner
C)Chittorgarh D)Banswara
E)Pratapgarh

IFgET 2022 #, CIL 3R Toredre fagga 3cureer faerar faffies (RVUNL) & & gvamaiRa v assiiar smaer
F AR, P $RA AR (CIL) o Toreua 7 1190 #mare @R Fsit §@47 H Fgl TG Far 1 Aok
forar &7

A) HrerarsT B)d&eR

C)Ricdlsee D)arerarst

E)yaTeie



Answer Key: B

Question No. 30

The President of India inaugurated a supercomputer facility named at lIT Guwahati in October
2022.

A)Param Brahma B)Param-Kamrupa

C)Param Yuva Il D)Param 10000

E)Param Ishan

AR & Tsgafd o e 2022 & IIT J@mgrer # S Th R el Jaur 1 seares
A)RH SEAT B) RA-FHHET

C)oR# gaT gfdda D)9z 10000

E)9xa 3T

Answer Key: B

Question No. 31
In which of the following did the Indian shooter Rudrankksh Balasheb Patil win a gold medal in the men's 10m
air rifle event in Cairo, Egypt on 14 October 20227
A)Olympic Games 2022 B) Commonwealth Games 2022
C)ISSF World Championships 2022 D)Asian Games 2022
E)World Military Games 2022

14 3RaT 2022 &1 A9 & Ffew A, qost # 10 M T [FHe T F HRAT fAmears w5 areraes
uifed A fefaf@a # & fFeet ot gew shar?

A)3eifes ol 2022 B)IsgHZ S Wl 2022

C)ISSF faea dftz=faa 2022 D)‘Z‘ﬁ'ﬂ'lé ol 2022

E)farg ¥ @a 2022

Answer Key: C

Question No. 32
The indigenously-built light combat helicopter inducted into the Indian Air Force on 3 October 2022 at the
Jodhpur airbase was named as-

A)Prachand B) Toofani
C)Ajeet D)Dhruv
E)Rakshak

3 et 2022 F U TIRAH H XA arg 1 7 WA e 70wy AT goh a3 el #ir
o1 =1 9r?

A)9dUs B) qwreir
C)3rsird D)¢a
E)38T

Answer Key: A

Question No. 33
When is the sixteenth edition of the Jaipur Literature Festival (JLF) scheduled to be held in 20237
A)January B)February
C)March D)April
E)May



2023 # SRR fAeYaR Hi¥eae (JLF) 1 Hiegal TEROT Fd AHRANTSTT @ arem 872

A) ST B) H¥air
cyara D)3rder
E)#g

Answer Key : A

Question No. 34

The 2019 Sahitya Akademi Yuva Puraskar award was presented for the Rajasthani short story 'Saglaan Ro

Seer' authored by-
A)Shruti Kanitkar B)Rishiraj Pathak
C)Keerti Parihar D)Rushiraj Jani

E)Yuvraj Bhattarai

2019 AT A Far TR, TSRAET 7Y FO1 Wet & d F Qv swga Fr =, s aws

I
AT FifdehR B) %R urow
C)@fd aiEgr D)HRRTS ST
E) gadrsl #7534

Answer Key: C

Question No. 35
What type of work is 2011 Sahitya Akademi Yuva Puraskar award winning 'Peer' which was written by Dula
Ram Saharan?

A)Poetry B)Novel
C)Play D)Short stories
E)Essays

2011 Wi 3PIeHT Jar TR T 'dis' fFe JovR &1 F § o ge# Weror & foram ar?

A)Fiaar B)3u=ard
C)dATeH D)oy FATd
E)faer

Answer Key : D

Question No. 36

The Bada Bagh or the Big Garden, close to the Govardhan Stambh, is located in-

A) Sirohi B)Rajsamand
C)Udaipur D)Pali
E)Jaisalmer

§ST ST AT 937 F9fan, s T F I, I fPua 8
A)feRrer B)3Tora#HG
C)3eaR D)dreir
E)Stae#

Answer Key : E

Question No. 37
Who designed the Laxmi Niwas Palace, the former residential palace of the king of the former Bikaner state?
A)Sir Samuel Swinton Jacob B)Maharaja Ganga Singh
C)Lord Mountbatten D)Robert Clive



E)Stanley Reed

@ AFER AT F WA F [ JaT dAgar deet o Yo #r fraer Bomser fear ar?

A)ET da3rer Rdea St B)FgRIaT IeT &g
C)dis A3cded D)IeE Faarsa
E)&eTell 17

Answer Key : A

Question No. 38
The state bird of Haryana is the-
A)Bastar hill myna B)Indian roller
C)Black francolin D)Great hornbill
E)Emerald dove

RO F e galr gl
A)SEaT TgTeT Her B)sAerhs wafr
C)FreT daw D)g=ier (I gletiarer)

E) Ul el (THITeS 34d)
Answer Key: C

Question No. 39

The Kumbhalgarh Wildlife Sanctuary is situated in the district of Rajasthan.
A)Jaisalmer B)Bikaner

C)Hanumangarh D)Rajsamand

E)Alwar

FHIG Toolld IIRVY [STE AT & e & T @

A) SRR B) ST

C)eJAIG D),

E)31eaX

Answer Key : D

Question No. 40
Which of the following sanctuaries is located in the district of Udaipur?
A)Darrah Sanctuary B)Sita Mata Sanctuary
C)Keladevi Wildlife Sanctuary D)Machiya Biological Park
E) Sajjangarh Wildlife Sanctuary

e & ¥ Fia-r AReT 3gaR Gy F e 72

AT 3RO B)draT AT 3IRTT
C)Facdr g=dsild HFIRvY D)AfSaT Sifas 3=
E)Hsaleilg dodsild AR

Answer Key : E

Question No. 41
A boy has a total of Rs.60 which is a sum of one rupee, 50 paise and 25 paise coins in the ratio 5 : 6 : 8. Find
the number of 25 paise coins.
A)30 B)32



C)42 D)48
E)50

T 5% $ UTH Fl $.60 T S 5 : 6 : 8 F HUNT H U T9Y, 50 ¥ 3R 25 ¥ & Ry v AT 81 25
5 F R f gEmr Aq fifew

A)30 B)32
C)42 D)48
E)50

Answer Key : D

Question No. 42
What is the remainder when 72 x 92 is divided by 87

A)0 B)3
C)6 D)1
E)2

9 72 x 92 Fr 8 ¥ fYenfaa fFar onar ¥ ar dWEd R g &7

A)O B)3
C)6 D)1
E)2

Answer Key : D

Question No. 43
After the price of an article is reduced by 15%, it costs Rs.1020. Find the actual cost of the article.

A)Rs.1150 B)Rs.1300
C)Rs.1850 D)Rs.1200
E)Rs.1400

U G F BAHT W 15% T A & ae, IH HAT 1020 g AT gl G H AR oo A
|

A)%.1150 B)%.1300
C)%.1850 D)%.1200
E)%.1400

Answer Key : D

Question No. 44
Find the HCF of 52, 5* and 5°.

A)52 B)5*
C)5° D)58
E) 510

52, 54 3R 56 & A, ¥. 9. (HCF) 7 HifSw|

A)52 B)5*
C)58 D)58
E)51D

Answer Key : A

Question No. 45



Find the area of a rectangle whose length and breadth are 9y and 4y?, respectively.
A)4y® sq.units B)9y? sq.units

C)36y* sq.units D)13y? sq.units

E) 15y° sq.units

T HAT HT &90d A Afaw S dars 31 @ise wam: 9y 3T 4y2? 81

A)dy® T gfae B)9y® T gfe
C)36y® Tt gfare D)13y® at gfae
E)15y° a°t gfae

Answer Key: C

Question No. 46

What is the liquid constituent of blood known as?

A)Serum B)Lymph
C)Plasma D)Monocyte
E)Leukocyte

T ¥ O UCFH FY FIT FET AT 3?

A)TRA B)farFw
C)TelTsaT D)AHEEE
E)eg@ramse

Answer Key: C

Question No. 47
Wavelength is measured in the Sl unit-
A)Kilogram (kg) B)Second (s)
C)Metre (m) D)Hertz (Hz)
E)Ampere (A)

TEeEd #t S| gfae # AT ST B

A) el (kg) B)d%s (s)
C)#reX (m) D)gst (Hz)
E)TFiaR (A)

Answer Key: C

Question No. 48

refers to the distance that a wave traverses in one second.

A)Wave velocity B)Wavelength
C)Time period D)Frequency
E) Amplitude

3 gl F Weflid Rar § S OF a1 OF s 7 a9 F gl

A)TTT e B)aGcEd
C)aHIEaY D)3gfea
E) 3mamsT

Answer Key : A

Question No. 49



Atomic masses are determined using which isotope of carbon as standard reference?
A)Carbon-12 B)Carbon-13

C)Carbon-14 D)Carbon-11

E)Carbon-15

Al e & TG & Heel & hd FATATAS F 39T T WAY] Geqdle AuiRa fre sma 82

A)FTEA-12 B)#Tei1-13
C)Fad-14 D)aTee-11
E)&rea-15

Answer Key: A

Question No. 50

The electronic configuration of chlorine is-

A2, 7 B)2,8,7
C)2,8,8 D)2, 8,8, 7
E)2, 8,9

ST ¥ BT W FANT FT ST oNF AT 87

A2, 7 B)2, 8, 7
C)2, 8, 8 D)2, 8, 8, 7
E)2, 8, 9

Answer Key : B

Question No. 51
If the area of a metal wire of a given length is doubled, then its resistance will be-
A)Doubled B)Halved
C)Unchanged D)Four times more
E) Three times more

iy felr & a1§ Sar$ ¥ U F AR W Araher AR F AT ST ¥, o sud gfodiy o =r wena gem?
A)ER[AT g STeeT| B) 3T & AT

C)yaRafdd gam| D)aR I A gem|

E)efer I i gl

Answer Key : B

Question No. 52

Which of the following materials has the highest electrical conductivity?

A)Steel B) Aluminium
C)Copper D)Silver
E)Nickel

fAefaf@d # & fhw gard $r faega areedr wdifts &2

A)ZEdTd B) teg#ifeas
C)drar D)arér
E) [Aererer

Answer Key : D

Question No. 53



Conductance is the reciprocal of-

A)Henry B)Coulomb
C)Resistance D)Impedance
E)Capacitance

reicd (Conductance) HT G Bl

Al B) e
C)ufarrer D)ufasmem

E) eriar

Answer Key: C

Question No. 54
What is the best way to remove static electricity from machinery?
A)Ground the framework B)Remove grounding
C)Insulate machinery D)Humidify the surrounding air
E)Clean the surroundings

AN & FAfAF Roreh #r goer #1 Fdfcarm ol w2 g2

AYFE 7% T 3T FT B)amsfer #r gere

C)#AM= @I e Htar D)3TEYTH &I 4T & AH7 HLAT (Humidify)
E)3TH-IrH $T AW AT

Answer Key : A

Question No. 55
Nichrome wire is used as the heating element because it has-
A)Low specific resistance B)A low melting point

C)High specific resistance D)High conductivity
E)High creep resistance

A % ar & B ¥ FROT 3V AT dcF F FT F I FAr Frar
AfereT Rfse gfery B)for=T TTeietioh

C)3=a faflree wferiy D)3=a drelehdl
E)3=a Ha gferrer

Answer Key: C

Question No. 56
Four capacitors of capacitance 8 uF, 16 pF, 32 yF and 64 uF are connected in parallel. The resultant
capacitance will be-

A)15/64 uF B)64/15 uF
C)64 uF D)120 uF

E)15 uF

8HF, 16uF, 32uF 3R 64yF enRem arel IR W TR & 53 U &1 aRomed afar gl
A)15/64 pF B)64/15 uF

C)64 WF D)120 pF

E)15 pF

Answer Key : D



Question No. 57

In an RLC series circuit, the impedance 'Z' at resonance is equal to-

A)2R B)R

C)Infinity D)0

E)4R

v RLC A@er YRuY &, g W wfaerer 'Z ¥ aUat g &
A)2R B)R

C)3eted D)0

E)4R

Answer Key: B

Question No. 58
The electric hum around a transformer is mainly attributed to-
A)Load changes B)Oil in the transformer
C)Magnetostriction D)Mechanical vibrations
E)All of the options

THPIAT & 36-F1E safdes &7 (hum) ATT: #r o ¥ FcUeet g B
A)os & aRada B)Tia%AR H dd

C)dahrr Rwaur (HAveifegae) D)aifye et

E)fwedi & & @l

Answer Key: C

Question No. 59
Which of the following is hard solder?
A)Lead - tin B)Silver — tin
C)Lead - silver D)Copper — silver
E)Nichrome — tungsten

mfaf@a # & sia-ar g8 dest 82

A)dE - fea B)ardr - feat
C)ors - diér D)drer - arér
E)As# - dareea

Answer Key : D

Question No. 60

During the start-up of a resistance-start motor, the centrifugal switch until the motor speeds up.
A)Closes and connects the start winding only B)Closes and connects the run winding only
C)Opens and disconnects the run winding D)Opens and disconnects the start winding

E)Opens and connects the start winding and run
winding

T MART-RIE AT F WIE-39 & e, Fdwpra faw __ #, 5@ a& & At 71fa 7 =g @

A)dg 8 St § 3R T asfEe & ad d9 de B)de @ S § 3R @ aEfEe & Fad a9 d% sede
Foige FU Ear fhU Tgar

C)gd S & 3R & aEfEer & Bepade #T &ar D)ge Sem & 3R Fere afEer & Bewade # aar



E)ger Sl & 3R e asfser aur & agfEs &t
FAde HLl
Answer Key : A

Question No. 61
In a shaded-pole motor, shading coils are provided to-
A)Reduce winding losses B)Reduce friction losses
C)Produce a rotating magnetic field D)Protect against sparking
E) Stop the electric field

As-de AR A, A Figw Frafaw vg= e ant §2

A)aifEr aifaat & 0 == B)E¥uT gIfal & FH et
C)eofl g & Icteet et D)Erichar I & et
E)fdegd &7 & qehet

Answer Key: C

Question No. 62
In which of the following applications is a DC series motor essential?
A)Lathe B)Refrigerator

C)Electric traction D)Driving of line shaft
E)Milling machine

fArfaf@a # & fha egwer # DC A@er Alel awT+ &7

A)TRTE (WY) B)¥firane
C)gelfdee garereT D)ol eMFe & Hared
E) fafesiar #eha

Answer Key: C

Question No. 63

Which component of the fluorescent tube light is used to get voltage surge at starting?

A)Tube B)Choke
C)Filament D)Capacitor
E)Lead wire

TARRIC @ W3 F FE gF & 39ART Yaad (FIfé) & waT it Wed (Heh) Wed w6 F fow B
ST 87
A)zgs B)dI&
C)fpersie D)¥faeT
E)oig ari (HEr dR)
Answer Key : B
Question No. 64
Which of the following statements is/are TRUE both for a series and parallel DC circuit?
A)Resistances are additive B)Currents are additive

C)Voltages are additive D)Powers are additive

E)Both current and voltages are additive

ffaf@a 7 ¥ Fa-ar Fya Aol 3k FA=R, @& v R & DC oot & foe &= 287



A)gfae gemcAs giar g1 B)&IRIU IRTcH® gidr &1
C)dlees ANMcHAS 8 gl D)4’ AIcHS ardr &l
E)anr 3R dieest, gl aemeas g &

Answer Key : D

Question No. 65

The speed of a DC machine is measured by using a/an-

A)Voltmeter B)Ammeter
C)Tachometer D)Multimeter
E)Manometer

FE DC 7ehe i aify #r T IYGRT F& AT ST §

A)areeHex B)3/FHeX
C)¢aHex D)HedIH e
E)#=ArHeT

Answer Key: C

Question No. 66

For a short-circuited transmission line, the reflection coefficient is-

A)1 B)-1
C)Zero D)Infinity
E)100

AYIRAT-HROT a8 F AT, Riadet qunish g 81
A)1 B)-1
C)I=a D)3eed
E)100

Answer Key: B

Question No. 67
Which of the following substances does NOT allow electrons to pass through it?
A)Porcelain B)Glass
C)Bakelite D)Mica
E)All of the options

fAfafa # ¥ Fla-ar g goegial # 33 ¥ 9N, vared & g &ar &2

A)tiffea B)&a (Frema)
C)shelrge D)3781h (TS
E)Reedt & & @efr

Answer Key : E

Question No. 68
What will be the resistance of a 200 W, 250 V lamp?

A)625 Q B)1250 Q
C)12.5Q D)312.5 Q
E)612.5 Q

200 W, 250 V & @ gfaier frasm gen?



A)625 Q B)1250 Q
C)125 Q D)312.5 Q

E)612.5 Q
Answer Key : D

Question No. 69
The current carrying capacity of a fuse wire depends on the-
A)Cross-sectional area B)Dimension
C)Material D)Temperature
E)All of the options

TS AR Y URT qe &THCT DT W AR Fr B
A)ITTET FIE & STBA B) fa=r
C)Jers D)dara#Te
E)faeet & & @3l

Answer Key : E

Question No. 70
The starting capacitor of a single-phase induction motor is the-
A)Electrolytic capacitor B)Ceramic capacitor
C)Timer capacitor D)Mica capacitor
E)Both paper and mica capacitors

fRaTe-taT g8 AT & TeIféar IR gl
A)zaacifafes FaffeT B) A+ Hufaex
C)erzaR FaffeX D)HATSH HUTHR

E)dux 3R Agesr FAfde, g=r

Answer Key: A

Question No. 71

If a wire conductor of 0.3 ohm resistance is doubled in length, then its resistance becomes-

A)0.3 ohms B)0.6 ohms
C)0.9 ohms D)1.2 ohms
E)0.15 ohms

IR 0.3 3 SRRy & AR aeF dar$ #F g A S 8, a9 suE SRy = gem?

A)0.3 3 B)0.6 31+
C)0.9 3= D)1.2 3=
E)0.15 3i&

Answer Key : B

Question No. 72

The ratio between the total lumens received on the working plane and the total lumens emitted by the light

source is the-
A)Power factor B)Utilization factor
C)Dissipation factor D)Load factor

E)Waste light factor



afder v (working plane) 9 WIsd Fel o (lumens) AR S W G@ERT 3T T AT F ST H

3T, g 8l

A)Trat e B)gfeamgarersT el
C)fsdere haex D)elrs therex

E)a¥e oge thaeX

Answer Key: B

Question No. 73
The purpose of a shunt in an ammeter is to-
A)Bypass the current B)Increase the resistance of the ammeter
C)Increase the sensitivity of the ammeter D)Decrease the sensitivity of the ammeter

E)None of the options

IFHET H A o F FF T AT &2
A)FIT FI AT FAT B)3eY & wiady & gig e
C)3rFHey T gamigar # gig Fam D)3mHIeY T Gamigar H Fal e

E)fasedl & & #I5 AT

Answer Key : A

Question No. 74
is defined as the RMS value of the first loop of fault current, if the fuse is replaced by an ordinary
conductor of negligible resistance.
A)Prospective current B) Cut-off current
C)Fuse current D)Current rating
E) Asymmetry current

W TgA T F Blec He & RMS A & w7 & aRenfia B e 8, IR w7 & Forog
Uiy & U WYUROT Fsa ganT e B s §

Aygefaa (dredfFea) aie B)&e-3iTh e
C)#gt e D)ae YT
E)3mafafa se

Answer Key : A

Question No. 75
When forward bias is applied to a junction diode, it-
A)Increases the potential barrier B)Decreases the potential barrier
C)Reduces the majority carrier current to zero D)Reduces the minority carrier current to zero

E)Increases the depletion layer

99 U SR SHIE F BRES SraW o] R S 8, g8

A)fasra 3Ry F Ferdr g B)fasTd 31aRIer I Herdr g

C)Sgd dlgsh HE N Yrd Th A X &l &l D)3eqHETE Alga NC Hl Yrd ddh HHA W &l gl
E) 379879 W I eI &l

Answer Key: B

Question No. 76
Which component of the CRT mainly controls the brightness of the image on the screen?

A)Anode B)Cathode
C)Control grid D)Focusing electrodes



E)Electron gun

CRT & HE&Id: PIT-AT UcH, ThIT W 3AST ¥ gFfY (brightness) Fr frdfie a=ar §7

A)TEs B) ¥z
C)agrel fars D) IR faT Selerels
E)selagle

Answer Key: C

Question No. 77

Calculate the electrical energy in units consumed by a 1000 W lamp for 10 hours.

A)2.5 units B)5 units
C)7.5 units D)10 units
E)1 unit

TF 1000 W o7 garT 10 &et & fow @ga #r 71§ Regedra seit Hr aoren, et & w

A)25 Ffee B)5 Ifere
C)7.5 e D)10 gfare
E)1 gfere

Answer Key : D

Question No. 78
CFL in illumination stands for-
A)Combustible Fluoride Lamp B) Compact Fluoride Lamp
C)Compact Fluorescent Lamp D)Combustible Fluorescent Lamp
E) Compact Filament Lamp

segfmee 3 CFL & quieq & §?
A)FFaicad FARES o B)#iFiFe FARSS ofT
C)aIFiFe FelHee T D)&diead FelEee o

E)Firdae fhamie ofg
Answer Key: C
Question No. 79
Which is the form of opposition that electronic components exhibit to the passage of AC because of
capacitance or inductance?
A)Reactance B) Admittance
C)Conductance D)Susceptance
E)Impedance

U 1 ag FlA-Ar FT ¢, S FAFcian gehr F MRAT AT Wehed F FROT AC & INT g & fav wefia
FaT 87

AyufEE (Rugea) B)yaedr (vsfaea)
C)areded (FsacH) D)argurfierar (FEiee=4)
E)wfaamr (Sds—a)

Answer Key: A

Question No. 80

Variable resistors are available as-



A)Linear type B)Logarithmic type

C)Stepping type D)Both linear and logarithmic types
E)Pulsating type

afteaer WAwT & §T 7 39 B §

A& R B) IR (ARG THSF) TR

C)eefir g D@ 3R T (Fief#s) g, S

E) TdeATcH® TR
Answer Key : D

Question No. 81
The amplifiers which retain the shape of the input signal at the output are called-
A)Pulse transformers B)Distortion amplifiers
C)Linear amplifiers D)Non-linear amplifiers

E) Auto-transformers

TR S H3eYE 7 ayc Aead & SR F FRIA @A §, FAT Fgald 67

A)Ted TRABIFT B) fawaur wrTelieiR
Ci@s wreelimrR D)3 @+ wrceleRR
E) 3iTeT-giapiaR

Answer Key: C

Question No. 82
A wave trap is a-
A)Resonant circuit B)Low-pass filter
C)High-pass filter D)Wide-band amplifier
E)Band-pass filter

39 3T (AT 1) UH gl

A) 31Te. Bfde B)fae=r-ur fheex
C)3=g-urH et D)args-dg TFCehI
E)ds-urd fiheex

Answer Key: A

Question No. 83
What is the function of the stator frame in an alternator?
A)To verticate the armature B)To hold the armature windings
C)To protect the whole machine D)To function as a return path for flux
E) To restart the whole machine

HeetAeX #H, R A F HY FT 87

A) AT F TSI (verticate) FHIAT B) 3R argfsa #r gles aar

C)qlr #efieT 1 gRiara T@a D)reed & foT amady oo & §9 # F FEAT
E)qdr AMeT &1 6 & =re], e

Answer Key: B

Question No. 84

A acts as both an inverter and a converter.



A)Metal rectifier B)Mercury arc rectifier
C)Semi-conductor diode D)Synchronous converter
E)Filter

., U& 3eae 3R UH FAaeT et & § F FF Hr gl

A)#ATe UFTHRR B)AFY 3 IFeHRR
C)aHI-Feee 31 D)AwE Feacx
E)fhecx

Answer Key : D

Question No. 85

Choose the application of DC supply.

A) Streetlights B)Refrigerators
C)Dishwashers D)Battery charging
E)Fans

DC 3myfet & T Iei

A)Eearse B) Rftheex
C)fReraier D)t =T
E)%a (Fans)

Answer Key : D

Question No. 86
Short-circuit faults in electronic circuits in voltage stabilizers are tested using a/an-
A)Ammeter B)Voltmeter
C)Wattmeter D)Multimeter

E) Galvanometer

Aot RAASAT H Foagliae Afhe 7 Ae-Afhe gt #r wdamor T IGAET F& FHaAT 1T B
A)3EHTeT B)alecaiex

C)aredex D)AfeeHeT

E)deaaiaex

Answer Key : D

Question No. 87
The ratio between the electric flux density in a dielectric medium and the corresponding electric field strength
is called-
A)Resistance B)Electric potential
C)Absolute permittivity D)Electric field intensity
E)Potential gradient

T SFAfaed ALIH H faegd are ueca, R HepeT ey & fr 4w & € & 9 B
Fgl S g

A)gferrer B) faegdira Herregar
C)feRuer faegeeierar D)fdega & a1 digar
E)@anfaa Afsve

Answer Key: C



Question No. 88

What is the overall efficiency of a thermal plant?

A)Less than 30% B)Between 40% and 50%
C)Between 50% and 80% D)More than 80%
E)100%

T Y CAie 6 THT 8T 41 87

A)30% & & B)40% 3k 50% & &=
C)50% 3iIT 80% o & D)80% & At
E)100%

Answer Key: A

Question No. 89

Normally for low-head plants in hydroelectric stations, the velocity of water in the penstock is chosen as-

A)2 m/sec B)4 m/sec
C)7 m/sec D)8 m/sec
E)10 m/sec

A AR W gEgisafacs WU 7 des I3 & AT, dawcis 7 qer & 99 it & 9 & oA ST B

A)2 #HEEs B)4 #Hi/des
C)7 FdEs D)8 #Hi/des
E)10 #idas

Answer Key : A

Question No. 90
For which of these is the Pelton impulse turbine best suited?
A)High heads B)Low heads
C)Medium heads D)Low and medium heads
E)Very low heads

g @ fras fAT deee $99ew SXamse Hed 39gFd 87

A)eTs 838 B)s 3@
C)#fsaw gsw D)ar 3R HfzaT gsm
E)sger & o gsd

Answer Key: A

Question No. 91
What is the function of the transparent cover in a flat-plate solar collector?
A)To reduce energy loss B) To transmit visible light
C)To block far-infrared rays D)To ensure more incoming solar radiation energy
E)All of the options

FT-TT IR Holded (HaAgs) H, IRERI H1aor &1 1 H §?

A)FSIT gIfT & FH AT B)TeTATA YRl HATRT =TT
C)gx-atad ool & 37a%g e D)3t 3mear |k fafor st gefad ser
E)Qeedt & & @l

Answer Key : E



Question No. 92
The difference in the height between a high tide and a low tide is known as the-
A)Tidal average B)Tidal range
C)Neap tide D)Spring tide
E)Tidal current

Iog wOR IR A saR & g fr TS F A Hr 4T FET AT 82

A)FarT B)Sa T WIH (range)
C)T (Neap) @R D)f&eT (Spring) @R
E)sarirr aRT

Answer Key: B

Question No. 93

The is used to protect the circuit from electrical leakage.
A)OCB B)MCB

C)ELCB D)MCCB
E)SPST

wffe @ fega R & T9= F o, &7 39T fRar Snar gl
A)OCB B)MCB

C)ELCB D)MCCB
E)SPST

Answer Key: C

Question No. 94

The ampere-hour efficiency of an Edison cell is nearly-

A)50% B)60%
C)70% D)80%
E)90%

U A $r TR A G&IAT I gl
A)50% B)60%
C)70% D)80%
E)90%

Answer Key : D

Question No. 95

The armature core of a DC generator is made of lamination.
A)Silicon steel B)Copper
C)Silver D)Zinc
E)Caobalt

& DC SelieT & I #R, AR F T @ B
A)fafosla T B)die &
C)arér & D)si¥d &
E)®leTee &

Answer Key: A



Question No. 96

A commutator is used with as an insulator.

A)Cloth insulating tape B)Mica

C)Wood D)Graphite
E)Paper

Th $FEGEe] & 3UART o HIY Th Syl & &9 & fhar S g
A)FdrY gegafear a9 B)ASH (373h)
C)gz (et D)drhrze

E)IR (F1TS)

Answer Key: B

Question No. 97
The voltage equation of a DC long-shunt compound generator is-
(where Eg is generated EMF, V¢ is terminal voltage, |, is armature current, R; is armature resistance, I is load
current, Rse is series resistance, and Vyrysh is brush contact drop)
A)Eg=Vi+ 2R, B)Eg = V;-la Ra
C)Eg = Vi + la (Ra + Rse) + Virush D)Eg=Vi+1aRa + I Ree
E)Eg=Vi-la/Ra

T DC dledr-2ic Y38 Seitex &l dlecs HHIEROT g 81

(18T Ey see fwar srr EMF g, V, effiaa dees &, |, 3R & §, R, 3mfax afady 8, I &is &< §,
Rse @ 9faer &, 3R Vpnsh T Fiedae T §1)

A)Eg = Vi + 15 Ry B)Eg = Vi - |a Ra

C)Eg Vi + g (Ra * Rse) + Vprush D)Eg Vi + la Ra + IL Ree

E)Eq = Vi - lo / Ry

Answer Key: C

Question No. 98
The armature reaction of an unsaturated DC machine is-
A)Cross-magnetization B) Demagnetization
C)Both cross-magnetization and demagnetization D)Negligible
E)None of the options

TS IHqed DC #lieT & R sfafsar gl &1
A)Fra-HIAersard B) fEdeaterzae=
C)Pig-Aisiesere iR Bdvaesae, aer D)aRTog
E)fasmedt & & 15 &gt

Answer Key: A

Question No. 99
In Fleming's left-hand rule, the thumb always represents the direction of the-
A)Current flow B)Induced EMF
C)Magnetic field D)Force
E)None of the options

TR & a¢ g & AuA A, [T gAw & e v yfafaftes swar g
A)ERT 9aTg B)Ra EMF



C)?;Haﬁl'q FSE] D)&er
E)fasedl & & #I5 AT
Answer Key : D
Question No. 100

is an equation describing the magnetic field generated by a constant electric current.
A)Kirchhoff's Law B)Biot-Savart's Law
C)Ampere's Law D)Faraday's Law
E)Norton's Law

, T RUT faegd URT GaRT 379 GahT 81T T g A drell U HAROT g

A)fFrars &1 AT B)aTa-mrac # fAus
C)vFriRR & foga D)rs & s
E)aAtea &1 Has

Answer Key: B

Question No. 101
The insulation resistance value of multilayer ceramic capacitors is represented in the unit ohm farads [QF] or-
A)Ohms B)Kilo-ohms
C)Milli-ohms D)Meg-ohms
E)Micro-ohms

T AT HARET & gegererT afaier # F, 3A H0s [OF] @ gt & aRifr S g
A) A B) fereiT-3iTe

C)rea-3ia D)FaT-373

E) #ATshr-3e

Answer Key : D

Question No. 102
Which is the golden hour for the victim injured on the head with the risk of dying?
A)First 100 minutes B)First 150 minutes
C)First 200 minutes D)First 60 minutes
E)First 90 minutes

A F @A F 77 AT W e T T F Qe wla-ar, gaew w77 gar 2

A)gge 100 e B)uger 150 fA=ie
C)ugel 200 fA=ic D)uger 60 A=e
E)uger 90 fA=e

Answer Key : D

Question No. 103



Whatis the name of given amplifier?

~ S L Tl 5,

12

# Common emitter amplifier ® Class B push pull amplifier
) Common collector amplifier D) Srlr?;lsﬁ? e]i pushipl

E) Class C power amplifier

ffw arv ofEcawray &1 a1/ F=4r 22

ey Q1

R2

& B

AN

A FiFe-ufiey ofEcasrr ®) Fame B qer-qe TfEeeeER

C) g D) FolTH AB T2I-
FIAA-FolFeT TTECTHIIT uﬁ-‘mw? I

B) Fomw € ureR ofdeermrR

Answer Key : B

Question No. 104

Which instrument is used to test small armature winding for short and open circuits?

A)Tong tester B)Internal growler
C)External growler D)Digital multimeter
E)Megger

e R 3w wffhe & v 8 IR aEET 1 9iwr == F @v R suetor &1 39T fRar srar 7

A)ehr X B) A& e
C)srgdl aiter D)2fSee Aot
E)# R

Answer Key: C



Question No. 105

Which type of joint is used for extending the length of a conductor in straight joints?

A)Scarfed joint B)Aerial-tap joint
C)Britannia "T" joint D)Western union joint
E) Fixture joint

er Sige (SiEh) 7 g i d98 o F AT FE 9BR F S Fr wAer B s §?

A)THIFS (Scarfed) Sige B)uR&a (Aerial)-¢q Sige
C)fsarfaar "T" Sige D)a¥est gfaaet Siige
E)fheax Siise

Answer Key : D

Question No. 106
What is the function of split rings in a DC generator?
A)Supplies output continuously B) Generates output unidirectionally
C)Generates output in the opposite direction D)Collects the output from alternate conductors
E) Supplies output discontinuously

DC JeRex #, fecae T &1 a1 +=1d 87

A)TRTIAR 33eqe &1 ATqfel HTar gl B) fASRRIS &9 & H13CYT H See Hl
C)aufia feem & 3m3eye Seike T gl D)3hfeush (3eeieie) HsFedl A M3eYC UHT HLdT gl
E)¥#-%# T (discontinuously) 3M3eqe & Jrqfel

FT ¢l

Answer Key: B

Question No. 107
What is the cause of heavy sparking in the brushes of a DC generator?
A)Short circuit in field winding B)Short circuit in armature winding
C)Change in position of MNA D)Too much spring tension at the brush
E)Short circuit in field and armature winding

FE DC IAtey & st &, Hy Tfdar F1 FROT 741 &7

A)fres asfEar & oaié affe B) 3R arsfEer # i afhe
C)MNA T&ufd # sgara D)ster 9X §geT SAeT fEiar e
E)fres 3R 3R aEfEs # o afee

Answer Key: C

Question No. 108
What is the CGS unit of magnetic flux?

A)Maxwell B) Ampere/metre
C)Tesla D)Henry
E)Newton/ampere?

Yohrg Ford $ CGS Ifae =r §?

A)FFadd B) TFdRR/AHEY
C)eEaT D)gRr
E)=gea/wrday?

Answer Key: A



Question No. 109

The resistance value of 1 MQ is marked as-

A)1MO B)M1
C)OM1 D)OMO
E)01M

1 MQ & wfaer A &t & ¥ A Rfeaa frar Jmr 2
A)1MO B)M1
C)OM1 D)OMO
E)01M

Answer Key: A

Question No. 110

What is the value of a resistor marked as 6K8F?

A)B.8kQ +1% B)6.8 kQ + 2%
C)6.8 kQ + 5% D)6.8 kQ + 10%
E)6.8 KQ + 20%

6K8F & 7 # Rftea e wfoius &1 71 Far gam?

A)6.8 kQ = 1% B)6.8 kQ + 2%
C)6.8 kQ £ 5% D)6.8 kQ + 10%
E)6.8 kQ + 20%
Answer Key : A
Question No. 111
More the appliances connected to a parallel circuit-
A)Less the current in the circuit B)More the current in the circuit
C)Less the voltage in the circuit D)More the voltage in the circuit
E)Zero the current in the circuit
FARIR TRTT & R 3o 37T 3 &
AyalRgy & 35 F9 4R B)gRuy & 3aT 38+ 4Rl
C)aRuy # 3daT et &A| D)uRuy & 3qa1 #fU® e |
E)aRuy # =g ol
Answer Key : B
Question No. 112
Which type of soldering flux is used for soldering galvanized iron?
A)Rosin B) Ammonium chloride
C)Sal ammonia D)Hydrochloric acid

E)Borax

IcaeTsss IR F Ao WA & AU FY YR F WesReT Foad F1 39A9T BFar Sar 87

INUEC B) 3AATH FoiRigs
C)aTe (Sal) @ D)grssieFalieh Tils
E)sReH

Answer Key : D



Question No. 113
Which type of winding wire is used for submersible pump motors?
A)PVC insulated type B) Terylene thread type
C)Super-enameled type D)Double-cotton covered type
E) Single-cotton covered type

HaATHES 99 At F v, B 9R & aEfET arR &1 39T fBRar e 87
A)PVC g-goles Jeh B)Re 98 YR
C)gR-Ta#es R D)sedl-shicsT ®ax fohdT 3T TR
E) RisTer-shiest a¥ f&ham g3m 9
Answer Key: A

Question No. 114

What is the name of the equipment that provides DC to the rotor of an alternator?

A)Exciter B) Inverter
C)Converter D)Synchronizer
E)UPS

T& Heclael & U H DC Vel T arer IYRIOT &l ATH FIT g7

A)TFHTSEY B)z=acT
C)a=atT D)f&ishIergeR
E)UPS

Answer Key : A

Question No. 115

The relative dielectric constant of air is-

A)1.0006 B)3.7
C)5 D)45
E)80

A T IS Wdegd Aaais fhdar 82

A)1.0006 B)3.7
C)5 D)45
E)80

Answer Key: A

Question No. 116
Which position must be used in an instrument equipped with gravity control?
A)Any position B)Vertical position
C)Inclined position D)Horizontal position

E)Either inclined or horizontal position

TecardeTr fdEor ¥ AW suaer # R Rufa @ 39T R s aifge?
A) e ofr TRt B)ciead feufa
C)3rr g3 Teufa D)aifaw Rufa

E)ar &t giT g3 alfasr fEufa
Answer Key : B



Question No. 117
How to protect the cable from insects and rats inside the panel?
A)By using sleeves B)By using grommets
C)By using cable binding straps D)By providing nylon cable ties
E)By using lugs

47l & eI Fao P Hrer IR gl F F FEC?

A)HTEN (Fellegd) T 3YINET Feh B)IAT T 3T Hlh
C)Fhadl aTsfEar T &1 3UANT Flh D)ATIdAA Fad TS eld Flsh
E)ole® a1 3TN Fleh

Answer Key: B

Question No. 118
What essential factors are to be considered while selecting a control panel design?
A)Input voltage to the control panel B) Number of indicating lights in the front panel
C)Input current to the control panel D)Control panel size
E)Weight of the control panel cabinet

Fore (gaon) dae Bos &1 999 - TFT fFel 3a90s SR W R fFr ser age?
A)dgrd 3 & AT gaqe dlees B)TTH & Ul H Hohdeh dfcadl =l T&AT
C)Feia 4eet ¥ T SoIqe e D)dgrer 4eTel I IR
E)serel dTel hfdeic &1 aolet

Answer Key : D

Question No. 119
Why power and control wirings run in separate raceways?
A)To reduce heat B) To prevent the signal interference
C)To increase the insulation resistance D)To increase the current carrying capacity
E) To reduce the voltage

qrat 3R Hgier IRET HeA9T-3eeT WS (raceway) H F4T Tl §2

A)FSAT H FH H & AT B)festel gFasld &l bt & faT
C)g=gerere FicRiYr &l Fe & fow D)URT dgeT &THCT H Fg & T
E)dledsl 1 ®A & & o

Answer Key : B

Question No. 120

Which circuit breaker is used as a switch and protective device in the domestic wiring circuit?

A)Air circuit breaker B)Miniature circuit breaker
C)Moulded case circuit breaker D)Earth leakage circuit breaker
E)Fuse

e, aRer wfdhe #, Fla-u1 Fihe s e 3R Qe SUROT & §9 7 9er R S g7

AR Tfée gax B)fAafatm afée saw
C)Are3s &u dfhe st D)31¥ ofrahet Affhe st
E)e gt

Answer Key : B



Question No. 121
Capacitance may be given in-
A)Micro-farads B)Nano-farads
C)Pico-farads D)Farads
E)All of the options

enfar (Fafad) # e S |har B

A)ATSH-IE B)staAr-thig
C)er-tvs D)¥E
E)faseut & & @afr

Answer Key : E

Question No. 122

In capacitance colour coding, what is the first digit value of the brown colour?

A)0 B)1
C)2 D)3
E)4

FfAET For R F, F13T FoR F Ggen Bfoe I (F7=7) T Frar 82

A)O B)1
C)2 D)3
E)4

Answer Key : B

Question No. 123
What is the full form of SMD in the context of resistors?

A)Slip Model Devices B)Source Mould Devices

C)Snap Mode Devices D)Super Model Devices

E) Surface Mount Devices

yfoiee & el &, SMD &1 quF 9 4T 87

AfEag Afse Basay B)&RY Ales RBasaw
C)&=iv Az Rasdw D)W #Hisel fZasaa
E)T%hE ASe Ay

Answer Key : E

Question No. 124

Voltage detectors are an example of accessories used in electrical home wiring.
A)Controlling B)Holding
C)Safety D)Outlet

E)Both controlling and outlet

At BXey, soffesa W (@) TRRGT # STAer R oY arer Teadie T UF IGET gl
Ayar IRET S B)® Uhse
C)& e D)& 3M3cae

E)&r fafa #e 3R 3m3cee, gmr

Answer Key: C



Question No. 125
What is the expansion of ECC in the context of electrical wires?
A)Earth Conductor Continuity B)Earth Carrying Cable
C)Earth Carrying Conductor D)Earth Continuity Cable
E)Earth Continuity Conductor

fega art & west #, ECC & qof 7 = 872

A) 31 FEFet HAFGZA B)31dl HAZr FHacr
C)3 HgT FzFex D)3Y &HEleggel dael
E) 3 &leggel HsaeX

Answer Key : E

Question No. 126

chisels are used for cutting keyways, grooves, and slots.

A)Flat B)Cross-cut
C)Half-round nose D)Diamond
E)Web

Bl & 39T, FY (keyways), TR 3T Fofe Fer F AT BFAr war &

A)TelT (TdeT) B)sIT-&Hec
C)BTH-U133 AT (HY-IMe ATF) D)arIAS
E)aT

Answer Key : B

Question No. 127
What is the output voltage of a solar cell, if the intensity of light falling is high?
A)No output in the cell B)Output voltage is increased
C)No effect and remains the same D)Output voltage is decreased
E)Output voltage is negative

g T % e 1 faar 3@ & oY, §R deT FT IM3EYe dleest 4T Gl?
A)AT & FI I3CYe AL BT &l B)3T3ce dleest a¢ ST &
C)I$ 31ER #1gT giar 3R Jgr Tgar &l D)33eqe dleesl Te e &

E)3M3eqe dlecsT ROMcHS gidT ¢l
Answer Key : B

Question No. 128
What is the function of VSI drives?
A)Converts AC to DC B)Converts AC to AC
C)Converts DC to AC D)Converts DC to DC
E)None of the options

VS| 35T F F T §7?

A)AC &I DC # FeaIdr gl B)AC &I AC # dcodr ¢l
C)DC & AC & F&eolaT gl D)DC & DC # deodr &l
E)faseul & & #15 AT

Answer Key: C



Question No. 129

Which of the following symbol is used to represent an air circuit
breaker?

A B)

) D)

TAT-Bihe T FT Tafeded = & ov TR # & g &
Fr 39rer AT sar 27

A B)

c) D)

Answer Key: A

Question No. 130
is the unit of reactive power in an electric circuit.
A)Volt-amps-reactive B)Ampere
C)Kilowatt-Ohm D)Watt
E)Coulomb second

faega wRoy # RefFea wfafrmiea) o # gfae _ &l
A)dree-Trea-RufFed B) TFdeR
C)freitare-3ier D)are
E)&ee @S

Answer Key: A



Question No. 131
How many amperes are required to light an ordinary 40-watt, 120-volt incandescent lamp? (Assume the
power factor to be 1.0)

A)0.3 A B)0.5 A
C)3A D)1.3A
E)1.5A

TU& HIURYT 40-a1E, 120-dlee d19&Iod (incandescent) 3T & Foey & AT fFder vy Y raegwar gidr 872
(R e & 1.0 FH AT o)

A)0.3 A B)0.5 A
C)3 A D)1.3 A
E)1.5 A

Answer Key : A

Question No. 132
What is the Diversity Factor (DF) in electrical wiring installation?
A)DF = Total individual maximum demand / B)DF = Actual maximum load of the whole system /
Maximum demand of the whole system Total connected load
C)DF = Minimum installed load / Actual load of the D)DF = Actual load of the whole system / Minimum
whole system installed load
E)DF = Minimum installed load / Actual maximum

load

SofFeha IR STl 7 safidr haex (DF) = &2

A)DF = el eaidaerd 3iftsas #91 / @ Bvesd &1 B)DF = ¥ fwes & ardias 3¥eas &5 / Fo
FHaH AT FAaes oig

C)DF = #g&Ad# ¥IUd ois / W T8FeH &7 ddids D)DF = Q@ @A &1 aedids dls / #gaAaA Fid
CIC] GG

E)DF = =aAdH T &S / aredids Hfeahdd s

Answer Key : A

Question No. 133

What is the advantage of AC power transmission?

A)Corona loss is negligible B)Due to the skin effect, line resistance decreases
C)Stability and synchronizing are good D)Voltages can be stepped up and stepped down
easily

E)Construction of AC transmission lines is much

easier and more cost effective

AC 9raT SiafAerT &1 FIT BrIer 87

A)SRIAT g S0 B)cadT & UG & HRUI, A3 GTAUET &d & AT gl
C)fRer 3R Jeashierdl 3= gl D)3 & dlees & Jer AR A «rar S @hdr g1

E)Acmﬁ?mmﬂﬁﬂma@mm
AT R werrdy &1
Answer Key : D
Question No. 134

What is the advantage of overhead lines compared to underground cables?



A)Lesser risk of fire explosion B)Faults can be located easily
C)No interference with the communication lines D)Not liable to hazards from lightning discharges
E)Higher safety as cables are placed overhead

AT (3ETa3s) Faer Y Joa F HGS AT F TN BIIAT 87

A)TIT & EFRIC FHT FA ANTEA g B)GINT &I AT & 9T o9MAT ST Hhl &l
C)TIR @EAl & AT HI§ gedaT AT gl D)fesrell TRaY & @19 drel @Wall & foIv Icaierlr Adr
gl

E)3Taay §&T & &9 # &dell #l Heawgs @I rar
gl

Answer Key: B

Question No. 135
What will happen to the skin effect on overhead conductors, if the conductor diameter is small (<1 cm)?
A)Becomes negligible B)Increases to maximum
C)Becomes double D)Decreases to half of the value
E)Decreases to a quarter of the value

i FEFeT F AME BT (<1 JA) §, o NIWRS Fsaedl W 9T & THIG &1 =T gen?
A0 g ST gl B)HT8ddH d% d¢ 1T &
C)gaT=r gl S &1 D)A & 3T § uC AT ¢l
E)A & Tah dUT$ ds o ST g

Answer Key : A

Question No. 136

The functionality of the varistor is similar to a/an-

A)Capacitor B)Operational amplifier
C)Light-emitting diode D)Bipolar junction transistor
E)Zener diode

ARTET (varistor) Fr FEEHAT & S g B

A)TuTRT B) 3T TFCRlIhIIR
C)9ahTel-3caoish SIS D)arsuier SRl Zifoteex
E)3eR e

Answer Key : E

Question No. 137

The is defined as the maximum change of output voltage per unit time and is expressed as volts per
second.

A)Common mode rejection ratio B)Current rate

C)Slew rate D)Offset voltage

E)Feedback factor

# wfd gfe wog F amseye Aets & AOFaw wRada F w7 & wRenfRa fBwr arar § 3k 3@
diee 9 ¥ F ¥ #F gad Fr S g
A)Flaa #is Roterer 3eard B)#E &
C)¥e &X D)3HTHie dlecst
E)drsses tharel



Answer Key: C

Question No. 138
Which of the following instruments is required to determine the load performance of a DC shunt generator?
A)Dynamometer B)Voltmeter
C)Ammeter D)Wattmeter
E)Both the voltmeter and ammeter

DC 2T Sty & dis uedil & fAuifla &= & fav Pwafaf@a & ¥ sa-ar sgsor smaas 2
A)SIATATHIET B)dlecHIeT

C)HFAIY D)arcHReT

E)alecaex 3R 3#Hex, giar

Answer Key : E

Question No. 139
How can the direction of rotation of a DC shunt motor be reversed?
A)By changing shunt field terminals B)By changing armature field terminals
C)By changing DC source terminals D)By changing the switch position
E)Either by changing shunt or armature field
terminals

DC 2T AT & WA Fr &2 & Fq 3eeT 1 Fohal 7

A)eie Fres fFdT F Feaa| B) 3T Hleg fHal #T deada|
C)DC @ra efFaal Fr Seoal| D)Raa &7 ITT FI Fga|
E)ar ar e a1 3R s cffadl ar sgoe|

Answer Key : E

Question No. 140
Which of the following instruments is used to measure the size of wire?
A)Standard wire gauge B)Plumb bob
C)Spirit level D)Micrometer
E)Both the standard wire gauge and micrometer

AR ¥ HFHR F AN F v Fafaf@a & & e sustor 1 suAer fFar s §7
A)FES TR IS B)coig did

C)Rufte daw D)ATSHIHT

E)¥ss arR I AR ASHIAR, aiar

Answer Key : E

Question No. 141
Which type of filing method is used when heavy reduction of material is required?
A)Diagonal filing B) Transverse filing
C)Longitudinal filing D)Either transverse or longitudinal filing
E)Both transverse and longitudinal filing

ey Fr AN AT F FHT T H HEGE AT g W, B yER Fr G AT @ suer fer s g7
A) et wrefeier B)giaay wisfeier
C)3eed wrgforer D)ar & grwad wisfoler ar seqeed wrsfeer



E)graad wigfeier 3R 3eqeed wisfer, ar

Answer Key : A

Question No. 142
Which of the following is an OR gate IC?

A)IC 74386 B)IC 7402
C)IC 7432 D)IC 7408
E)IC 7404

fawsT % & Fls-a1, OR AT IC 82

A)IC 74386 B)IC 7402
C)IC 7432 D)IC 7408
E)IC 7404

Answer Key: C

Question No. 143

When the input terminal of the NOT gate is at , it is termed as logic 0.
A0V B)3V

C)5V D)6 V

E)y7V

Stq NOT 3 & geiqe effieer 9T giar &, ar s oo 0 Fer T gl
A0 V B)3 V

C)5 V D)6 V

E)7 V

Answer Key : A

Question No. 144
What gate is obtained by connecting the output of an OR gate to the input of a NOT gate?
A)AND gate B)NAND gate
C)NOR gate D)Ex-OR gate
E)Ex-NOR gate

& OR 9T F 3m3eye A NOT AT F FAYc ¥ gt W Fia-r AT WIed gar 82

A)AND 3¢ B)NAND 3¢
C)NOR 3¢ D)Ex-OR 3
E)Ex-NOR #¢

Answer Key: C

Question No. 145

Which test is carried out to find the insulation resistance between the cables of installation and earth?

A)Speed test B)Insulation test
C)Open-circuit test D)Pole test
E)Phase test

ST Faat T 3 (earth) F A SeGARNT WY 1 gar 9N F A0 Fler-ar adieror Br swar 22
A)arfa (Td13) alregor B)Segorere ulrETor
C)3iu=-ufde gdreror D)ya (dier) odafor



E)%sT udator
Answer Key : B

Question No. 146
What is the reason for excess faulty reading of the energy meter?
A)Defective wiring B)Meter defects
C)Over-voltage D)Excess use of appliances
E)Both defective wiring and meter defects

Foft #eX & & Qwqot AfFar &1 =41 FROT §7?

A)TE arfEr B)#HIeX I @rEr

C)3at-alecst D)3ueUll 1 Sgd SHTET SEAHATe
E)&Re araRer AR Hex $r @, ger

Answer Key : E

Question No. 147
can be reused after the clearance of faults.

A)Cartridge fuses B)HRC fuses

C)Miniature circuit breakers D)High rupturing capacity fuses
E) Switch fuses

gret fr Feaew () & a1, FT QoT: I9ANT AT ST HRT B
AyFIfesT v B)HRC wgst

C)fafaTeR afde sat D)3=xI fagNur &TdAar wgat

E) e g

Answer Key: C

Question No. 148

Name the safety sign.

A) B)

Prohibitionsign Mandatory sign

C) D)

Warning sign Information sign

E)

Emergency sign



F&T Hhel & AH aa1sT|

A) B)

oty @ Hiea T W

) D)

EGICCi:C] TIAT Thd

E)

OIS Tohd

Answer Key : B

Question No. 149
What is the total current when an 'n' number of cells are connected in parallel?
(Where 'E' is the EMF and 'R’ is the internal resistance of each cell)

A)E/MR B)E/R
C)nE/R D)E/(n + R)
E)ER/n

ST Jelt Y TF 'n' HEAT A FAGCK F ST ST § aF Fol GRT el el §2
(38T 'E', EMF & 3R 'R, 9% A & HiaRks gfader §)

A)E/nR B)E/R
C)nE/R D)E/(n + R)
E)ER/n

Answer Key: C

Question No. 150
Electrical appliances are NOT connected in series, because-
A)Appliances cannot be switched on separately B)All appliances will not get the same voltage
C)The current from power supply will be low D)If one appliance stops working, all other appliances
also stop working
E)All of the options

g 39or H@er # 7@ F3 e €, Hifn-

A)3UHIUTT T 3HeldT § dTe] o8] (AT ST Hevell g B)TT 3UaUll I U ST dlecot Al |

C)faegd 3mqfd & +e FA gm| D)afE TH 30T HH FLAT §¢ I ol &, af 3
ol IUFOT ot FH FAT 5 I o B

E)fasedt & & @it






